

ERRATA TO "ON INDUCED COVARIANT SYSTEMS"

SEIGFRIED ECHTERHOFF

(Communicated by Jonathan M. Rosenberg)

While the results in [1] are correct, the paper contains some misprints which make it unreadable in some places.

page 703:

line 7: Replace $f(xh) \stackrel{h^{-1}}{=} (f(x))$ by $f(xh) = h^{-1}(f(x))$.

bottom line: Replace $\Phi(a)(x) \stackrel{x^{-1}}{=} a + I$ by $\Phi(a)(x) = x^{-1}a + I$.

page 704:

3rd line of proof of the theorem: Replace $x \xrightarrow{x} a$ by $x \rightarrow x a$.

4th line of proof of the theorem: The equation should read

$$\Phi(a)(xh) = h^{-1}x^{-1}a + I = h^{-1}(\Phi(a)(x)).$$

5th line from bottom: Replace ${}^x\pi(b) := \pi^{x^{-1}}(b)$ by ${}^x\pi(b) := \pi(x^{-1}b)$.

3rd line from bottom: Replace the line by

$$\|\Phi(a)(x)\| = \|x^{-1}a + I\| = \sup\{\|\pi(x^{-1}a)\|; \pi \in \widehat{A/I}\}.$$

page 705:

line 13: Replace the line by

$$\psi(xH) x^{-1}a - x^{-1}(za) \in I$$

4th line above Corollary 2: Delete the word "inverse."

REFERENCES

1. S. Echterhoff, *On induced covariant systems*, Proc. Amer. Math. Soc. **108** (1990), 703–706.

FACHBEREICH MATHEMATIK-INFORMATIK, UNIVERSITÄT-GESAMTHOCHSCHULE PADERBORN,
 WARBURGER STRASSE 100, D-4790 PADERBORN, FEDERAL REPUBLIC OF GERMANY

Received by the editors June 6, 1990.